EARAROBEEIERT — 2 N— IBISH —F

20125F4H220 (B) 2E£IR3H

mﬁgjq%ﬁgu C21 #5%— ESRE Ry
[AE£] 1%&:170,000  ~ 2% :34,000”  33%&:1500 M . 43%&:11,000 " 53 :6,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
g K s o7 | SHERE 1:30.1 1-1-1-1 | 38.5| — 1 478 | EBEX (23R)
1B 3|BvyvYbTay 54.0 ) g | FTYaUEE (48
RR—ANFIHYLTF— Bi¥—bkuiay RS g IEERRR by Y3 I
= N e JIIZREABA :31. ~5-4~ . — &% (2R
ol1l1|mzFrrvrLR it 4 e 1(371)6 5-5-4-3 | 38.9 3 (4_3; el
LTS5y Ia%xS—K B:ITVLYa—F— A
- - N BT : -0-0— - HNEEFIR (£IR)
N NEEEIZETE S i 6 i 1.(322>.o 2-2-2-2 | 40.1 2 z:(s;z METR
LF—TRXT7N=hF B:F71—FK-=) kB 7 7 — L4
R o4 | BRZE 1:32.2 6-8-6-4 |38.9| — 4 473 | REBES (£R)
4|5|5|EXTEAR 6.0 3/d) Oy | memE
VLR YIYRIR BIFTRTEH— DS
ey S5 7 | REF 1:33.6 8-7-7-6 |40.2| — 6 457 | EHEH (£R)
5/8/9|7F—r¥ad— 54.0 ) (o) | BEFE
R:FH¥—bx2d BVYI/Tat— BHR&H FHI77—L4
= o4 | HEHESR 1:33.7 4-4-3-5 |40.8| — 5 435 | EA—B (£R)
6(8|10| 7 LTAL—L 56.0 (7€) o) |BEHE
R:F—TIARTN— b B:ZbACTYLAL FH)Tr—1
. $BARKR— : -9-9- - FHX (2R
4 > PP B ED 7 S IR R ° (4_13 KEAL
T4 NnN=h> )= B:eh)i-— ICRLRTy7—L4
.= — RERAHE : -6-8- — — HiEg—t (£R)
8 6| 77714y 771 i o 54.0 1'(344)'7 688 4.3 ?_763; N ’
R:TSAT7LX24 L B:2bO258)7 BEMHGEN RRES
7 N 47 | DOEEFNZE 1:35.7 3-3-5-9 | 42.7| — 7 507 | /NEELK (£iR)
9l7lg| by 7 N=n= 56.0 (5) (-) | MB=RTEX
QiR Z R N=IN— BN—TNF— =alye ]
o3 o 8 4 | FEHEX 1:37.0 10-10-10-10{ 40.9 | — 8 430 | HAEH (£R)
100 7 | 7FR>YTVE S 54.0 ©® vg) | M) 77— bETa>
L:ALT7A47 B:FF3I40F 10— AIE SR
® 1—F—@EBIERL
1T=7r= 3,4,8,10,1,5,6,9,2,7
23— — 3,4,8,10,1,6,9,5,2,7
Ja=5= 3,4,10,1,8,5,9,6,2,7
40—F— 3,4,1,5,10,(2,9),6,8,7
[ N5
B 3 100 714K 1-3 290M e E 1-3 660 JEE 1-3-4 1,000
B B 3 1004 3-4 130H e B 3-1 1,050 JEE 3-1-4 2,680M
1 1004 1-4 810M B & 1-3 840M
4 120 B HE 3-1 910M

ABICOVWTRDTEEERROODE. TR LIV,




